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a —1, ecaud n 9E€THO;

a, +n, €CIIM n HEUCTHO.
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Pewenue.

a —1, ecnu n 4€THO;

a, +n, €CIIM n HEUCTHO.
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a, =1+1=2;



a, =a, +1 (n Heu.),
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a,=a,—1 (nuyém.),
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a,=a,—1 (nuyém.),

a, =1+1=2;

a,=2-1=1;



a, =a, +1 (n Heu.),
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a, =a, +3 (n neu.),

a, =1+1=2;

a,=2-1=1;



a, =a, +1 (n Heu.),

a,=a,—1 (nuyém.),

a, =a, +3 (n neu.),

a,=1+1=2;
a,=2-1=1;
a, =1+3=14;



a, =a, +1 (n Heu.),
a,=a,—1 (nuyém.),
a, =a, +3 (n neu.),

a; =a, —1 (nuyém.),

a,=1+1=2;
a,=2-1=1;
a, =1+3=14;



a, =a, +1 (n Heu.),
a,=a,—1 (nuyém.),
a, =a, +3 (n neu.),

a; =a, —1 (nuyém.),

a, =1+1="2;
a,=2-1=1;
a, =1+3=14;
a, =4—-1=3;



a, =a, +1 (n Heu.),
a,=a,—1 (nuyém.),
a, =a, +3 (n neu.),

a; =a, —1 (nuyém.),
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a, =4—-1=3;



a, =a, +1 (n Heu.),
a,=a,—1 (nuyém.),
a, =a, +3 (n neu.),

a; =a, —1 (nuyém.),

a, =a, +5 (nneu.),

a, =1+1=2;
a,=2-1=1;
a,=1+3=14;
a, =4-1=3;
a, =3+5=8;



a, =a, +1 (n Heu.),
a, =a,—1 (nuém.),
a, =a,+3 (n neu.),
a; =a, —1 (nuyém.),

a, =a, +5 (n neu.),

u max oajee.

a, =1+1=2;
a,=2-1=1;
a,=1+3=14;
a,=4-1=3;
a, =3+5=8;



la,} =11 2, 1 4 3; 8 7; 14;13; 22; 21; 32; 44; 31; .|

lay,} = {2; 4; 8 14; 22; 32; 44; ..}
lay,nt =111 3; 7, 13; 21; 31; ..}
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a,, =y, +2(n-1)=

~F

= dy,-2) +2(n_2) ( ):
) +2(n=3)+2(n=2)+2(n-1) =..

=a,+2+..+2(n-3)+2(n-2)+2(n-1)
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a,, =y, +2(n-1)=

~F

= dy,-2) +2(n_2) ( ):
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5 +2(n=3)+2(n-2)+2(n-1)=..=
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=a, +2(1+2+...+(n=3)+(n-2)+(n-1))



CyMMma 7 —1 wieHa api()METHYECKOIT IIPOTPECCII

1+2+..+(n=3)+(n-2)+(n-1)=

=1+Z_1-(n—1)=n(n2_1)
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